is a quarter note. It receives 1 beat of sound.

is a quarter rest. It receives 1 beat of silence.

is an eighth note. It receives % beat of sound.

is an eighth rest. It receives % beat of silence.

s

is a sixteenth note. It receives + beat of sound.

is a sixteenth rest. It receives # beat of silence.

|

~ is a half note. It receives 2 beats of sound.

| This ~BE_ is a half rest. It receives 2 beats of silence.




This O is a whole note. It r'ec_eives 4 beats of sound.

This ™8 s q whole rest. It receives 4 beats of silence.

When two eighth notes Gb Gb are grouped together, a

@ is needed to combine them.

-]

When four sixteenth notes @ﬁ@ﬁ@ﬁﬁ are grouped together,

a double bar-line ### @ is needed to combine them.
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Piease fill in the sentences with missing words and numbers. Spell the names of the

musical note or rest on the first blank line. Then identify the beat values of each
note or rest on the second blank line.

This J . receives
This % receives
This @b receives
This 7 receives
This ﬁ receives
ThlS ? receives
This CJ __receives
This = receives
This 0 . reecives
This T receives

When two eighth notes Jj are grouped together, what is needed to combine them?

beats of sound.

beats of stlence.

beats of sound.

beats of silence.

beats of sound.

beats of silence.

beats of sound.

beats of silence.

beats of sound.

beats of silence.

When four sixteenth notes @@8 @

are grouped together, what is needed to combine them?




Name:

Notes

Rests

Beats

Quarter

Eighth

Sixteenth

Halg

Whole




